t17_geomtrap
(TMZiC3MZelLxLJ3ZEAWvwcje35wWrsSyCf36)

October 27, 2020

Let v2_struct.0 : t=>0 be given. Let vl3_algstr-0 : (=0 be given. Let
v2_rlvect_1 : =0 be given. Let v3_rlvect_1 : 1=0 be given. Let v4d_rlvect_1 :
t=>0 be given. Let v5_rlvect_1 : 1=0 be given. Let v6_rlvect_1 : t=-0 be given.
Let v7_rlvect_1 : t=>0 be given. Let v8_rlvect_1 : t=>0 be given. Let [1_rlvect_1 :
(=0 be given. Let ml_subset_1 : t=>1=>0 be given. Let ul_struct_0 : 1= be
given. Let r2_geomtrap : 1=1=1=>1=1=1=1=-0 be given. Let rl_analoaf :
1=1=1=>1=>1=0 be given. Let r3_analmetr : i1=1=1=1=1=>1=1=>0 be given.
Let k1_geomtrap : t=1=>1=-1 be given. Assume the following.

VX0.((—v2_struct_0 X0)A((v13_algstr 0 X0)A((v2_rlvect_1
XO)A((v3rlvect_1 X0)A((vd-rlvect-1 X0)A((v5-rlvect-1 X0)A
((v6_rlvect-1 X0)A((v7-rlvect-1 X0)A((v8_rlvect-1 X0)A(I1_rlvect_1 (1)
X0ONN)))))=(VX1.(ml_subset.1 X1 (ul_struct-0 X0))=
(VX2.(ml_subset-1 X2 (ul_struct_0 X0))=((rl-analoaf X0
X1 X2 X2 X1)=(X1 = X2))))

Assume the following.

VXO0.((—v2_struct 0 X0)A((v13_algstr_0 X0)A((v2_rlvect_1
X0)A((v3_rlvect_1 X0)A((vd_rlvect-1 X0)A((v5-rlvect-1 X0)A
((v6_rlvect-1 X0)A((v7-rlvect-1 X0)A((v8_rlvect_1 X0)A(I1_rlvect_1
XONNON))=(VX1.(ml_subset-1 X1 (ul_struct_0 X0))=
(VX2.(m1_subset-1 X2 (ul_struct_0 X0))=(VX3.(ml_subset_1
X3 (ul_struct_0 X0))=(VX4.(ml_subset 1 X4 (ul_struct_0
X0))=(VX5.(ml_subset_.1 X5 (ul_struct.0 X0))=(VX6.
(ml_subset_-1 X6 (ul_struct-0 X0))=((r2_-geomtrap X0 X1 X2 X3 X4 X5
X6)=((rloanaloaf X0 X3 X4 X5 X6)A((r3-analmetr X0 X3 X4 (kl_geomtrap
X0 X3 X4) (kl_geomtrap X0 X5 X6) X1 X2)A(r3.analmetr X0 X5 X6 (k1_geomtrap
X0 X3 X4) (kl_geomtrap X0 X5 X6) X1 X2))))))))))
(2)



Theorem 1

VX0.((—v2_struct_0 X0)A((v13_algstr 0 X0)A((v2_rlvect_1
X0)A((v3-rlvect1 X0)A((vd-rlvect-1 X0)A((v5-rlvect-1 X0)A
((v6_rlvect-1 X0)A((v7_rlvect-1 X0)A((v8_rlvect-1 X0)A(I1_rlvect_1
X0N))N))=(VX1.(ml_subset.1 X1 (ul_struct-0 X0))=
(VX2.(ml_subset_1 X2 (ul_struct 0 X0))=(VX3.(ml_subset_1
X3 (ul_struct_0 X0))=(VX4.(m1l_subset_1 X4 (ul_struct0
X0))=((r2_geomtrap X0 X3 X4 X1 X2 X2 X1)=(X1 = X2))))))



